Svenska Bridgeférbundet
Brons 16 Ruter 2018-08-01

Partavling, 26 bord, 52 par. Antal brickor: 24. Medel: 600.0.

Plac Par Poang % Namn MID Klubb
1 726 726 60.50 Ann-Kristin Olofsson - Peter Lindstrand 78892 26390 Svegs BK - Hede-Vemdalen BK
2 833 722 60.17 Maya Lo Bjork Heed - Andrea Nilsson 58763 58762 BK Albrekts
3 758 721 60.08 Ann Lofberg - Karin Ekhammar 31651 54543 BK S:t Erik
4 827 717 59.75 Anneli Stenberg - Sonja Proos 83306 18122 Svegs BK
4 832 717 59.75 Leif Erlandsson - Karin Erlandsson 45510 45509 Nora BK
4 857 717 59.75 Margareta Forsberg - Tommi Oberg 57337 3818 Billeruds BK
7 849 699 58.25 Tom Sandquist - Monica Sandquist 33275 33276 Laholms BK
8 729 695 57.92  Annica Carlsson - Christina Ederberg 56440 56439 BK Albrekts
9 853 688 57.33 Bo Aberg - Barbro Aberg 16941 16940 Hedemora BS
10 733 686 57.17 Ingmari Amoson - Helén Bellander 19753 45923 Vaxjobridgen
11 855 685 57.08 Olov Andersson - Ragnar Ouchterlony 46612 52356 Filbyter Bridge
12 732 666 5550 Tommy Ringstréom - Doris Ringstrom 15949 32988 FagerstaBS
13 760 644 53.67 Veronika Karlsson - Eva Jansdotter 61005 88035 Karlskoga BK - Orebridgen
14 751 643 53.58 Carina Ljung - Bo Hagman 83553 7982 Skovde BA - Alvik BC
15 831 641 53.42 Agneta Shanwell - Christine Hargevik 44636 54660 BK S:tErik
16 757 635 52.92 John Dryden - Paul Grengel 52970 47220 BK S:t Erik
17 759 632 52.67 Annelie Strom - Lisbet Mattsson 60347 57723 Borlange BK
18 731 631 52.58 Christina Melin - Ase Salwin 29977 25675 Hedemora BS - Saters BK
19 828 628 52.33 Bo Larsson - Anna-Stina Wennberg 35666 35665 Bohus Nations BS
20 721 624 52.00 Birgitta Frisk - Ingrid Karlsson 79400 27592 Mariestads BS - BK Ruter
20 730 624 52.00 Kjell Lundqgvist - Curt Wikblad 38578 43258 Borlange BK
22 822 618 5150 Maria Boberg - Ann-Helen Engstrom 40588 38837 Storsjobygdens BK
23 754 612 51.00 Annie Gahm - Bo Gahm 32797 56671 BK S:tErik
24 752 604 50.33 Gunnar Johansson - Lars Ehn 33060 33052 Skara BS
24 825 604 50.33 Ingvar Arvidsson - Karin Arvidsson 16819 4021 Bords BA
26 824 601 50.08 Gudrun Schultz - Ann-Charlotte Lewén 92348 92347 VBS Aros
27 823 600 50.00 MatsBende - Christina Bende 89167 93060 Tidaholms BK
28 750 595 49.58 Ingemar Borg - Tony Bergman 88523 55871 Jarnvagens BK - Orebridgen
29 852 591 49.25 Gunilla Seth - Martina Thornton 54302 54646 BK S:t Erik
30 858 590 49.17 Jan-Olof Siby - Ulla Holmudd 26821 55779 Boras BA - Vasbypensionarernas BF
31 753 588 49.00 Kate Almkvist - Henrik Almkvist 44619 93473 BK S:tErik
32 749 582 48.50 Irene Mattsson - Christina NordIof 27873 35955 Borlange BK
33 722 577 48.08 Agneta Moberg - Katarina Landstedt 33198 80314 BKALERT
34 860 575 47.92 Lars-Ove Larsén - Agneta Johansson 56798 43365 Skovde BA
35 848 572 47.67 Monika Savberg - Marianne Lofquist 55135 58570 Borlange BK
36 723 568  47.33 Kenneth Hedstrom - Ulla Petterson 37592 37593 BK S:t Erik
37 850 564  47.00 JarlJonsson - Ann Johansson 32936 32933 Norrorts Bridge
38 829 557 46.42  Sigbritt Bengtsson - Anna Karlsson 88900 12517 Bollnads BK
39 748 551 45.92  Inger Mork - Tina Elfstedt 86266 55302 Karlstads BK
39 826 551 4592 Britt-Marie Gallon - Kaija Laitinen 5452 91211 Malungs BK
41 728 541 45.08 Mats Myrén - Unni-Britt Myrén 30253 31566 Folkare BK
42 755 535 44.58 Gunilla Jonsson - Karin Augustsson 45955 30301 Norrkdpingsbridgen
43 859 532  44.33 Gunnar Ericsson - Ann-Cathrine Strém-Ericsson 54133 54134 BK S:tErik
44 856 528 44.00 Anders Brodin - Peter Nyberg 18577 25850 Stenstorps BK - Askims BK
45 724 516  43.00 Viveca Johansson - Ulla Fogelin 6903 57144 Motala Bridgeallians
46 851 508 42.33 Leif Hogberg - Berit Hogberg 22679 22680 SkaraBS
47 727 505 42.08 Eva Menzing - Agneta Jakobsson 57693 57687 BK S:t Erik
48 756 499 4158 Roland Goransson - Rune Johansson 35238 93812 BK ESS-lov - Tidaholms BK
49 854 487  40.58 Annelie Backman - Sonja Fredriksson 40243 49033 Orebridgen
50 830 479 39.92 Ake Nordlof - UIf Fahlén 35956 57128 Borlange BK
51 821 429 35.75 Christina Persson - Elof Johansson 54792 46721 Motala Bridgeallians
52 725 400 33.33 Lars-Erik Forsberg - Britt-Marie Andersson 44021 54581 Motala Bridgeallians
1 + 1086 Bésta kontrakt 2 & KKn94 Bésta kontrakt 3 49 Bésta kontrakt
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¢EKNn76 ¢4 O6 5 8 118 +D1032 ¢ E64 035534 ¢- ¢+ ED3 O 9 6 101110
»- #KDKn97 V 65 8 118 %952 #843 V355314 #Kn54 #EK1073 vV 9 6 101110
a4 4 ED3 & EK42
v EKKn7 vD5 v D73
4983 ¢ KKn97 + K64
#E10532 #KD107 »D82
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
724 757 44 O= vA -420 440 6.0(832 851 3NN+1 v6 630 48.0 2.0|760 722 54 0-2 4A 200 490 1.0
729 752 44 O = vA -420 440 6.0(854 829 3NS+1 &9 630 480 2.0|854 827 540-2 49 200 490 1.0
731 750 44 O= vA -420 440 6.0(857 826 3NS+1 45 630 480 2.0|750 733 2v V-1 49 100 420 8.0
760 721 44 O= vA -420 44.0 6.0(821 823 44 S= +3 620 440 6.0|755 728 3NO-1 ¢4 100 420 8.0
850 833 44 O = +3 -420 440 6.0(723 758 3NS= +3 600 28.0 22.0(824 857 44 V-1 49 100 420 8.0
857 826 44 O= vA -420 440 6.0(729 752 3NS= +3 600 28.0 22.0(829 852 44 0-1 4A 100 420 8.0
860 822 44 V= vA -420 440 6.0(731 750 3NS= +3 600 28.0 22.0(859 822 1la V-1 ¢ 100 42.0 8.0
722 759 44 O+1 YA -450 21.0 29.0(749 732 3NS= +2 600 28.0 220|721 727 34 0= a A -110 33.0 17.0
725 756 44 O+1 ©vA -450 21.0 29.0(751 730 3NS= +2 600 28.0 22.0(724 758 34 0= oA -110 33.0 17.0
748 733 44 O+1 YA -450 21.0 29.0(753 728 3NS= +2 600 28.0 22.0 (749 748 24 O+1 &A -110 33.0 17.0
749 732 44 O+1 YA -450 21.0 29.0|754 727 3NS= 48 600 28.0 22.0(848 833 34 0O = a A -110 33.0 17.0
753 728 44 O+1 YA -450 21.0 29.0(755 726 3NS= +3 600 28.0 22.0(823 858 3v V= 49 -140 27.0 23.0
754 727 44 O+1 YA -450 21.0 29.0(760 721 3NS= +2 600 28.0 22.0(856 825 2v V+1 49 -140 27.0 23.0
755 726 44 O+1 YA -450 21.0 29.0(824 859 3NS= +3 600 28.0 22.0(726 756 34 O+2 4K -150 24.0 26.0
821 823 44 O+1 YA -450 21.0 29.0(825 858 3NS= +2 600 28.0 22.0(732 751 2y V+2 9 -170 22.0 28.0
824 859 44 O+1 YA -450 21.0 29.0(849 848 3NS= +2 600 28.0 22.0 860 821 14 S- 43 -200 20.0 30.0
830 853 44 O+1 vA -450 21.0 29.0|850 833 3NN-= 45 600 28.0 22.0(723 759 4y O= 49 -620 15.0 35.0
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832 851 44 O+1 #A -450 21.0 29.0|855 828 3NS= *2 600 28.0 22.0|730 753 4y V= 49 -620 15.0 35.0
849 848 44 O+1 K -450 21.0 29.0|860 822 3NS= 48 600 28.0 22.0|831 850 44 V= aT -620 15.0 35.0
852 831 44 O+1 YA -450 21.0 29.0|{830 853 2NN+2 ¢6 180 12.0 38.0 (851 830 44 V= *J -620 15.0 35.0
854 829 44 O+1 &A -450 21.0 29.0|856 827 INS+2 ¢2 150 10.0 40.0 (853 828 3NO+1 &K -630 10.0 40.0
855 828 44 O+1 YA -450 21.0 29.0|722 759 3% S= *2 110 8.0 42.0|725 757 4v O+1 49 -650 7.0 43.0
856 827 44 O+1 YA -450 21.0 29.0|724 757 3NS-1 45 -100 3.0 47.0(754 729 44 O+1 a2 -650 7.0 43.0
751 730 44 O+2 vK -480 4.0 46.0|725 756 3NS-1 ¢2 -100 3.0 47.0|752 731 3NO+2 &A -660 4.0 46.0
825 858 5¢DN-3 «A -500 2.0 48.0|748 733 3NS-1 vK -100 3.0 47.0(855 826 4¢DN-4 T -800 2.0 48.0
723 758 54DS-4 ¢A -800 0.0 50.0[852 831 3NS-1 45 -100 3.0 47.0|849 832 54DO= +¢4 -850 0.0 50.0
4 oK Basta kontrakt 5 4 Kn1065 Basta kontrakt 6 4 E1042 Basta kontrakt
Vast v EK1072 4¢ V =-130 Nord vD32 4v O D -2 300 Ost v K63 4v SD-1-100
Alla ¢ 102 NS ¢ E53 ov + E10
#D10963 & ¢ v & NT D105 & ¢ v & NT #K984 & ¢ v & NT
& Kn54 4 E1062 N7 386 4 4872 «ED3 N9 8599 4 KKn853 4 D96 N8 3936
vKn5 vD43 S7 3854 v 108754 vKKn96 S985909 vE4 v 85 S 83936
¢+ E64 ¢+ KKn9753 O 6 105 7 8 ¢+ D1086 ¢ KKn O3 4844 ¢ Kn62 ¢ KD9874 O49 496
#KKN842 &- V 6 105 7 8 &7 #Kn632 V 34833 #ED10 &Kn2 V49496
4 D9873 & K94 a7
v 986 vE v DKn10972
+D8 9742 +53
*E75 #EK984 #7653
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
726 756 34 O-4 v9 400 50.0 0.0|721 729 4vDO-2 #A 300 50.0 0.0|857 830 44 V-3 ¢A 300 50.0 0.0
730 753 3v N= +5 140 440 6.0|851 850 24 N+2 ¢9 170 48.0 2.0|722 728 44 V-2 ¢A 200 48.0 2.0
750 733 3v N= +9 140 440 6.0(727 756 INO-3 #A 150 450 5.0(827 821 3v S= *2 140 450 5.0
752 731 2v N+1 &A 140 440 6.0(750 749 2NS+1 v5 150 450 5.0(859 828 3v S= *2 140 450 5.0
755 728 3v N= aA 140 440 6.0|858 829 3#S+1 T 130 42.0 8.0|726 757 34 V-1 vK 100 40.0 10.0
853 828 3v N= +5 140 440 6.0|726 757 4y V-2 #Q 100 38.0 12.0|733 752 44 V-1 ¢A 100 40.0 10.0
723 759 2v N= +9 110 37.0 13.0|733 752 INO-2 %4 100 38.0 12.0|848 853 3NV-1 &4 100 40.0 10.0
831 850 2v N= +5 110 37.0 13.0|753 732 INO-2 &A 100 38.0 12.0|751 748 4y S-1 ¢2 -50 35.0 15.0
851 830 44 O-1 49 100 34.0 16.0|731 754 24 S= vT 90 33.0 17.0|753 732 4v S-1 43 -50 35.0 15.0
829 852 3vy N-1 9 -100 29.0 21.0|857 830 2# S= +6 90 33.0 17.0|721 729 24 V= A -110 28.0 22.0
854 827 3v N-1 &A -100 29.0 21.0(852 849 3v V-1 4] 50 29.0 21.0(760 723 3¢ O= a7 -110 28.0 22.0
855 826 3vy N-1 +5 -100 29.0 21.0|860 824 2v O-1 &A 50 29.0 21.0|823 825 3¢ O= a7 -110 28.0 22.0
860 821 3v N-1 &A -100 29.0 21.0|760 723 3#S-1 +38 -100 25.0 25.0 (826 822 24 V= *A -110 28.0 22.0
721 727 3¢ O+1 v9 -130 19.0 31.0(826 822 2# S-1 +6 -100 25.0 25.0|856 831 3¢ O= vQ -110 28.0 22.0
749 748 3¢ O+1 v9 -130 19.0 31.0|725 758 2y O = A -110 17.0 33.0|860 824 3¢ V+1 &8 -130 22.0 28.0
754 729 3¢ O+1 v9 -130 19.0 31.0|755 730 2y O = &K -110 17.0 33.0|724 759 34 V= A -140 18.0 32.0
760 722 3¢ O+1 v9 -130 19.0 31.0(827 821 2y O= &K -110 17.0 33.0| 731 754 34 V= *A -140 18.0 32.0
824 857 3¢ O+1 v9 -130 19.0 31.0|832 855 2y O= A -110 17.0 33.0|851 850 24 V+1 ¢A -140 18.0 32.0
856 825 2¢ O+2 v9 -130 19.0 31.0|856 831 2y O= A -110 17.0 33.0|725 758 34 V+1 ¢A -170 12.0 38.0
724 758 4v N-2 &A -200 7.0 43.0|859 828 2y O= *A -110 17.0 33.0(852 849 34 V+1 ¢K -170 12.0 38.0
732 751 3y N-2 +3 -200 7.0 43.0|722 728 2y V+1 45 -140 8.0 42.0|858 829 24 V+2 42 -170 12.0 38.0
823 858 4v N-2 45 -200 7.0 43.0(823 825 2v O+1 &A -140 8.0 42.0|750 749 2NV +2 &8 -180 8.0 42.0
848 833 3y N-2 ¢3 -200 7.0 43.0(854 833 3v O= &K -140 8.0 42.0|727 756 INV+4 44 -210 5.0 45.0
849 832 3¥y N-2 +5 -200 7.0 43.0(751 748 2v O+2 &K -170 4.0 46.0|755 730 2NV +3 &8 -210 5.0 45.0
859 822 3vy N-2 +3 -200 7.0 43.0|848 853 44 S-3 +¢8 -300 2.0 48.0(832 855 3NV +1 «4 -630 2.0 48.0
725 757 3y N-3 v3 -300 0.0 50.0|724 759 4y O= *A -420 0.0 50.0|854 833 3NV +2 &4 -660 0.0 50.0
7 432 Bésta kontrakt 8 48 Bésta kontrakt 9 & K102 Bésta kontrakt
Syd v K1053 4v V =-620 Vast v 92 44 N D -2 -300 Nord vKn ANT N =430
Alla + 109 Ingen ¢+ KDKn7653 ov + EDKn63
#E7632 & ¢ v & NT #EDKn & ¢ v & NT #E954 & ¢ v & NT
4 KD765 #E10 N7 3334 4 ED7 4952 N3 9385 495 4 DKn764 N 10118 8 10
vEKn86 D742 S73334 vEDKn3 vK10854 S39385 vEK964 v753 S 10118 8 10
732 ¢ EDKn65 O5 9 109 8 *2 ¢ E O 103 104 8 + K54 ¢ 97 022543
*8 &KD vV 5 10109 8 #K10976 #8542 V 104 105 8 #KKn2 4763 V22553
4 Kn984 & KKn10643 4 E83
v9 v76 vD1082
+ K84 + 10984 41082
#Kn10954 *3 D108
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
833 852 6y O-3 &J 300 50.0 0.0|751 750 5¢DN= &4 550 50.0 0.0|728 757 3NN+1 3 430 450 5.0
725 759 3NO-2 &9 200 450 5.0(831 854 5vDO-2 #3 300 48.0 2.0|749 754 3NS+1 &2 430 45.0 5.0
728 756 3N O-2 %9 200 45.0 5.0|855 830 4¢ N= vK 130 46.0 4.0|760 725 3NN+1 &4 430 45.0 5.0
825 821 3NO-2 &T 200 45,0 5.0|732 755 5v V-1 T 50 41.0 9.0|828 824 3NS+1 «9 430 45.0 5.0
855 830 3NO-2 &J 200 45,0 5.0|748 753 5v O-1 43 50 41.0 9.0|858 833 3NS+1 «9 430 45.0 5.0
721 731 4v O-1 #J 100 25.0 25.0(754 733 5v O-1 +4 50 41.0 9.0|860 826 3NS+1 9 430 45.0 5.0
722 730 4v O-1 48 100 25.0 25.0|760 724 5v O-1 T 50 410 9.0(724 730 3NN= 44 400 36.0 14.0
726 758 4y V-1 #A 100 25.0 25.0|721 731 4¢ N-1 vK -50 30.0 20.0|729 756 3NS= 49 400 36.0 14.0
727 757 4v V-1 T 100 25.0 25.0|725 759 5¢ N-1 vK -50 30.0 20.0 (829 823 3NN= a4 400 36.0 14.0
732 755 4v V-1 T 100 25.0 25.0| 727 757 4¢ N-1 42 -50 30.0 20.0|821 831 2NS+2 v4 180 32.0 18.0
748 753 4y V-1 43 100 25.0 25.0|728 756 5¢ N-1 v4 -50 30.0 20.0|726 759 INN+2 4 150 28.0 22.0
752 749 4v O-1 &J 100 25.0 25.0825 821 4¢ N-1 v4 -50 30.0 20.0|733 721 2NN+1 4 150 28.0 22.0
754 733 4v V-1 T 100 25.0 25.0|853 832 4¢ N-1 %4 -50 30.0 20.0|825 827 2¢ N+3 a2 150 28.0 22.0
760 724 4v O-1 & 100 25.0 25.0|856 829 4¢ N-1 v4 -50 30.0 20.0(722 732 2¢ N+2 «Q 130 17.0 33.0
822 824 4v O-1 #J 100 25.0 25.0|722 730 5¢ N-2 &5 -100 17.0 33.0|723 731 2¢ N+2 &7 130 17.0 33.0
831 854 4v O-1 &J 100 25.0 25.0|726 758 5¢ N-2 vK -100 17.0 33.0|727 758 2¢ N+2 «Q 130 17.0 33.0
850 849 4v O-1 &J 100 25.0 25.0|822 824 5¢ N-2 v5 -100 17.0 33.0|755 748 3¢ N+1 +¢9 130 17.0 33.0
851 848 44 V-1 &A 100 25.0 25.0|826 859 5¢ N-2 v4 -100 17.0 33.0|848 857 2¢ N+2 5 130 17.0 33.0
853 832 4v V-1 &A 100 25.0 25.0|850 849 5¢ N-2 v4 -100 17.0 33.0(853 852 2¢ N+2 4Q 130 17.0 33.0
856 829 4v O-1 438 100 25.0 25.0|851 848 64D N-1 #2 -100 17.0 33.0(854 851 2¢ N+2 46 130 17.0 33.0
857 828 3NO-1 #J 100 25.0 25.0(833 852 3v O+ *3 -170 9.0 410|859 832 2¢ N+2 4Q 130 17.0 33.0
751 750 3NO= *J -600 8.0 42.0|857 828 3v O+1 T -170 9.0 410|752 751 INN+1 44 120 7.0 43.0
723 729 44 V= v5 -620 4.0 46.0|752 749 5¢DN-2 8 -300 6.0 44.0|850 855 2NN = «Q 120 7.0 43.0
858 827 4v O = LN -620 4.0 46.0(860 823 4y O = T -420 4.0 46.0(822 830 2¢ N+1 #4 110 3.0 47.0
860 823 4v V= v5 -620 4.0 46.0|858 827 4v O+1 T -450 2.0 48.0(856 849 2¢ N+1 «Q 110 3.0 47.0
826 859 3NO+1 &J -630 0.0 50.0|723 729 6¢DN-3 v4 -500 0.0 50.0|753 750 3# N-1 ¢3 -50 0.0 50.0
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10 4952 Basta kontrakt 11 4 K84 Basta kontrakt 12 4 DKn742 Basta kontrakt
Ost v 1093 ANT O =-630 Syd v EDKNn9732 5¢v SD-1-100 Vast v 85 6NT S = 1440
Alla + KD73 Ingen +8 NS + KDKn
#3865 & ¢ v & NT »64 & ¢ v & NT &D42 & ¢ v & NT
48 & KDKn N252¢6 3 4 E10732 #Kn95 N2 4 103 6 «10 & K953 N 8 7 111011
vKKn764 vE2 S2526 3 v K64 v- S 25 103 6 v 932 v Kn7 S 8 7 121012
+ E65 ¢ 10842 O 108 107 10 + K95 ¢ D643 O 108 3 105 49874 4 106532 056121
&#DKn73 #E1092 vV 108 107 10 KD &#EKN10532 V 108 3 105 #EKN1085 %93 V56121
4 E107643 4 D6 4 E86
v D85 v 1085 v EKD1064
+ Kn9 + EKn1072 ¢ E
*K4 987 #K76
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
726 759 3NO-1 44 100 50.0 0.0(858 831 3y N+1 45 170 50.0 0.0|730 756 6NN = ¢2 1440 49.0 1.0
850 855 2¢ V= vT 90 48.0 2.0(849 854 1INV-2 vQ 100 47.0 3.0(852 851 6NN= +6 1440 49.0 1.0
729 756 3# 0O = *J -110 46.0 4.0|855 848 5# V-2 vA 100 47.0 3.0|833 856 6v S= 4T 1430 43.0 7.0
760 725 2N O = a4 -120 440 6.0|721 749 34 V-1 ¢8 50 39.0 11.0|849 854 6v S= &A 1430 430 7.0
848 857 3# O+1 &A -130 410 9.0|724 732 64 0-1 T 50 39.0 11.0|853 850 6v S= T 1430 43.0 7.0
853 852 44 O = s A -130 41.0 9.0(725 731 44 V-1 8 50 39.0 11.0|855 848 6v S= &A 1430 430 7.0
753 750 2y V+1 42 -140 38.0 12.0(730 756 4# O-1 +¢A 50 39.0 11.0|721 749 4v S+2 4T 680 32.0 18.0
822 830 2v V+2 49 -170 36.0 14.0(827 823 4 0O-1 T 50 39.0 11.0|724 732 4v S+2 4T 680 32.0 18.0
723 731 24 S-2 *A -200 32.0 18.0(857 832 44 O-1 T 50 39.0 11.0|750 755 4v S+2 #A 680 32.0 18.0
727 758 24 S -2 *A -200 32.0 18.0|727 759 5v N-1 &J -50 30.0 20.0|754 751 5v S+1 &T 680 32.0 18.0
828 824 24 S-2 *3 -200 32.0 18.0|750 755 5v N-1 &A -50 30.0 20.0|760 726 4v S+2 &T 680 32.0 18.0
724 730 2N O +3 44 -210 26.0 24.0|760 726 4v N-1 & -50 30.0 20.0|824 826 4v S+2 4T 680 32.0 18.0
829 823 2NO+3 43 -210 26.0 24.0|833 856 5vyDN-1 45 -100 26.0 24.0|860 825 4v S+2 &T 680 32.0 18.0
860 826 2N O +3 43 -210 26.0 24.0|859 830 44 O+1 T -150 24.0 26.0|723 733 3NN+2 T 660 23.0 27.0
733 721 3NO= a4 -600 21.0 29.0(853 850 34 V+1 YA -170 22.0 28.0(828 822 3NN+2 43 660 23.0 27.0
854 851 3NO= a7 -600 21.0 29.0(824 826 5vDN-2 &A -300 20.0 30.0|729 757 54 N= 43 650 19.0 31.0
755 748 3NO+1 46 -630 17.0 33.0(754 751 5% O = v5 -400 17.0 33.0(859 830 4v S+1 &A 650 19.0 31.0
856 849 3NO+1 &A -630 17.0 33.0|860 825 5# O = v5 -400 17.0 33.0|728 758 4v N = *9 620 16.0 34.0
825 827 4v V+1 a2 -650 14.0 36.0| 723 733 44 V= +8 -420 9.0 41.0(821 829 2v S+4 4T 230 13.0 37.0
722 732 3NO+2 46 -660 6.0 44.0|748 722 44 V= +8 -420 9.0 41.0|857 832 2v S+4 ¢7 230 13.0 37.0
728 757 3NO+2 &A -660 6.0 44.0|753 752 44 V= +8 420 9.0 41.0|725 731 3v S+1 T 170 10.0 40.0
749 754 3NO+2 46 -660 6.0 44.0|821 829 44 V= +8 -420 9.0 41.0|727 759 64 N-1 &T -100 6.0 44.0
752 751 3NO+2 43 -660 6.0 44.0|828 822 44 V= +8 -420 9.0 41.0|753 752 64 N-1 &9 -100 6.0 44.0
821 831 3NO+2 43 -660 6.0 44.0(852 851 44 V= +8 -420 9.0 41.0|858 831 54 N-1 &9 -100 6.0 44.0
858 833 3NO+2 46 -660 6.0 44.0|728 758 44 V+1 vA -450 1.0 49.0|748 722 64 N-2 &9 -200 1.0 49.0
859 832 3INO+2 3 -660 6.0 44.0|729 757 44 V+1 A -450 1.0 49.0|827 823 5v N-2 &9 -200 1.0 49.0
13 497 Basta kontrakt 14 46 Basta kontrakt 15 410 Basta kontrakt
Nord v 543 6v O =-1430 Ost v K105 5NT O =-460 Syd v EK10532 64 VD -51100
Alla + D107 Ingen 497532 NS + K1073
#DKn1094 & ¢ v & NT #E954 & ¢ v & NT &E9 & ¢ v & NT
« EK 4 Kn8652 N53033 4 EDKNn874 41092 N9 3311 4 EK9652 4D3 N 6 129 6 7
vKn vEKD1072 S 5 3 0 3 3 vKn73 v E982 S94311 v94 v DKn87 S 6 129 6 7
¢ EKn8532 ¢9 O 7 10121010 + EKn8 ¢ K1064 049 9 1111 + Kn8 ¢ 54 O71475
£K765 &8 V 7 10121010 &2 K6 V 49 9 1111 &KD4 #86532 V714705
4 D1043 4 K53 4 Kn874
v 986 v D64 v6
+ K64 +D + ED962
#E32 #DKn10873 #Kn107
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
724 748 3NV -3 49 300 49.0 1.0(822 848 34 V-2 &4 100 50.0 0.0|826 828 3vyDN+1 4Q 930 50.0 0.0
824 832 64 O-3 #A 300 49.0 1.0(760 727 44 V-1 v5 50 470 3.0(829 825 3yDN= «Q 730 48.0 2.0
729 758 44 V-1 #Q 100 440 6.0(856 853 44 V-1 45 50 47.0 3.0(732 756 4y N= 4Q 620 440 6.0
731 756 4v O-1 44 100 440 6.0(827 829 24 V+1 ¢7 -140 440 6.0|750 724 4v N= «Q 620 440 6.0
831 825 5¢ V-1 #Q 100 440 6.0(728 759 24 V+2 46 -170 40.0 10.0|854 853 5¢ S+1 &K 620 440 6.0
858 851 3NV= *Q -600 40.0 10.0|830 826 34 V+1 &A -170 40.0 10.0|723 751 5¢ N= 4Q 600 39.0 11.0
754 753 4y O = 43 -620 37.0 13.0|850 859 34 V+1 ¥5 -170 40.0 10.0|830 824 5¢ S= 4A 600 39.0 11.0
827 829 4y O= A -620 37.0 13.0|722 750 34 V+2 &A -200 33.0 17.0|857 850 44DV-2 vA 300 36.0 14.0
722 750 3ANO+1 43 -630 24.0 26.0|726 732 34 V+2 &A -200 33.0 17.0|726 748 3v N+1 «Q 170 32.0 18.0
728 759 3NV +1 #Q -630 24.0 26.0|855 854 34 V+2 &A -200 33.0 170|755 754 3v N+1 «Q 170 32.0 18.0
749 723 3NV +1 #Q -630 24.0 26.0|858 851 24 V+3 &5 -200 33.0 17.0(823 831 3v N+1 «Q 170 32.0 18.0
751 721 3NV +1 #Q -630 24.0 26.0(831 825 34 V+3 #A -230 28.0 22.0|725 749 3v N= «Q 140 23.0 27.0
755 752 3NV +1 #Q -630 24.0 26.0|860 828 2N O +4 #Q -240 26.0 24.0|752 722 3v N= «Q 140 23.0 27.0
760 727 3NV +1 #Q -630 24.0 26.0|725 733 44 V= 46 -420 22.0 28.0|760 728 3v N= «Q 140 23.0 27.0
822 848 3NV +1 #Q -630 24.0 26.0|749 723 44 V= v5 -420 22.0 28.0822 832 3v N= «Q 140 23.0 27.0
852 857 3NV +1 &T -630 24.0 26.0|852 857 44 V= v5 -420 22.0 28.0|851 856 3v N= «Q 140 23.0 27.0
855 854 3NV +1 #Q -630 24.0 26.0|724 748 44 V+1 &A -450 13.0 37.0|860 827 3v N= «Q 140 23.0 27.0
856 853 3NV +1 #Q -630 24.0 26.0|729 758 44 V+1 &4 -450 13.0 37.0|731 757 34 V-2 vA 100 16.0 34.0
860 828 3NO+1 #Q -630 24.0 26.0|731 756 44 V+1 &A -450 13.0 37.0|721 753 34 V-1 &A 50 13.0 37.0
726 732 4v O+1 #A -650 8.0 42.0|751 721 44 V+1 46 -450 13.0 37.0|855 852 24 V-1 vA 50 13.0 37.0
821 849 4y O+1 &A -650 8.0 42.0|821 849 44 V+1 &A -450 13.0 37.0|727 733 4vy N-1 «Q -100 6.0 44.0
823 833 4v O+1 #4 -650 8.0 42.0|823 833 44 V+1 46 -450 13.0 37.0|729 759 2N S-1 oA -100 6.0 44.0
830 826 4v O+1 43 -650 8.0 42.0|730 757 44 V+2 &4 -480 3.0 47.0|730 758 4vy N-1 4Q -100 6.0 44.0
850 859 4v O+1 «4 -650 8.0 42.0|754 753 44 V+2 &A -480 3.0 47.0|821 833 3vy N-1 4Q -100 6.0 44.0
725 733 3NV +2 #Q -660 2.0 48.0|755 752 44 V+2 &A -480 3.0 47.0|859 848 5¢ S-1 &A -100 6.0 44.0
730 757 3NV +3 #Q -690 0.0 50.0824 832 44 V+2 &7 -480 3.0 47.0|858 849 24 V= vK -110 0.0 50.0
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16 & EKn65 Basta kontrakt 17 4 E10754 Basta kontrakt 18 4 Knl0 Basta kontrakt
Vast v D109 ANT N =430 Nord v E87 54 N =450 Ost v 102 6# S =1370
oV + D106 Ingen ¢ EKn5 NS ¢ E5
»K98 & ¢ v & NT *K6 & ¢ v & NT #KDKn10542 & ¢ v & NT
aD4 a72 N 8 107 1010 +KD # Kn93 N9 7 10119 4762 aK854 N 12108 1011
v EKn4 v 876532 S 8 107 1010 v K95 v 1043 S 107 10119 vK864 D753 S 12109 1011
+Kn73 ¢ 942 0526 23 ¢+ KD10983 ¢ 642 036324 + D107 ¢642 013431
#D10732 #E6 V52623 #93 #D1075 V36324 #973 &E8 V13431
4 K10983 4 862 « ED93
vK v DKn62 v EKn9
+ EK85 *7 + KKn983
#Kn54 #EKn842 *6
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
723 751 44 N+1 v2 450 38.0 12.0| 726 750 44 N= ¢2 420 47.0 3.0|832 828 3NS+3 a2 690 49.0 1.0
726 748 44 N+1 #A 450 38.0 12.0|732 757 4v S= oK 420 47.0 3.0|852 822 3NS+3 v4 690 49.0 1.0
729 759 44 S+1 &3 450 38.0 12.0|823 851 44 N= 6 420 47.0 3.0|721 755 3NS+2 v4 660 35.0 15.0
731 757 44 S+1 43 450 38.0 12.0|825 849 44 N= ¢+6 420 47.0 3.0|726 750 3NS+2 v6 660 35.0 15.0
732 756 4v N+1 &A 450 38.0 12.0|724 752 3NN = «5 400 41.0 9.0|730 759 3NS+2 v4 660 35.0 15.0
750 724 44 N+1 &A 450 38.0 12.0(833 827 3NN= #5 400 410 9.0|731 758 3NS+2 v4 660 35.0 15.0
752 722 44 S+1 vA 450 38.0 12.0|728 748 34 N+1 ¢2 170 32.0 18.0|751 725 3NS+2 6 660 35.0 15.0
821 833 44 N+1 &A 450 38.0 12.0|731 758 24 N+2 +¢6 170 32.0 18.0|753 723 3NN+2 3 660 35.0 15.0
823 831 44 N+1 &A 450 38.0 12.0|733 756 34 N+1 ¢2 170 32.0 18.0|760 729 3NS+2 6 660 35.0 15.0
829 825 44 N+1 v3 450 38.0 12.0|753 723 34 N+1 +¢6 170 32.0 18.0|823 851 3NS+2 +¢7 660 35.0 15.0
857 850 44 S+1 ¢3 450 38.0 12.0829 831 34 N+1 ¢2 170 32.0 18.0|826 848 3NS+2 v4 660 35.0 15.0
858 849 44 S+1 &3 450 38.0 12.0852 822 24 N+2 ¢2 170 32.0 18.0(854 859 3NS+2 ¥4 660 35.0 15.0
860 827 44 S+1 vA 450 38.0 12.0|854 859 24 N+2 ¢2 170 32.0 18.0|857 856 3NS+2 6 660 35.0 15.0
721 753 44 N= «A 420 18.0 32.0(826 848 3¢ V-3 &A 150 22.0 28.0|860 830 3NS+2 ¥4 660 35.0 15.0
725 749 44 N= «A 420 18.0 32.0(832 828 34 V-3 &K 150 22.0 28.0|722 754 3NS+1 ¢Q 630 20.0 30.0
730 758 44 S= vA 420 18.0 32.0 (857 856 INN+2 &7 150 22.0 28.0|829 831 3NS+1 v6 630 20.0 30.0
822 832 44 S= 3 420 18.0 32.0( 722 754 34 N= 2 140 17.0 33.0(833 827 3NN+1 ¢3 630 20.0 30.0
851 856 44 N = «A 420 18.0 32.0(751 725 2v N+1 &5 140 17.0 33.0 (825 849 54 N+1 44 620 16.0 34.0
854 853 44 S= &7 420 18.0 32.0(721 755 2N S= +K 120 14.0 36.0 (727 749 3NS= v4 600 10.0 40.0
859 848 44 S= v4 420 18.0 32.0(860 830 INN= *5 90 12.0 38.0(732 757 3NS= .7 600 10.0 40.0
826 828 24 S+2 &2 170 10.0 40.0 (858 855 2¢ V-1 44 50 10.0 40.0 (733 756 3NS= v4 600 10.0 40.0
727 733 44 S-1 &2 -50 4.0 46.0|727 749 3NN-1 5 -50 5.0 45.0(824 850 5# N = a5 600 10.0 40.0
755 754 44 S-1 &7 -50 4.0 46.0|730 759 3NN-1 46 -50 5.0 45.0|858 855 3NS= v6 600 10.0 40.0
760 728 54 N-1  &A -50 4.0 46.0|760 729 34 S-1 +K -50 5.0 45.0|821 853 34 N+1 4 130 4.0 46.0
830 824 44 S-1 &3 -50 4.0 46.0|824 850 3NN-1 &7 -50 5.0 45.0|724 752 3NS-1 v4 -100 2.0 48.0
855 852 44 N-1 &A -50 4.0 46.0|821 853 3NN-4 &5 -200 0.0 50.0|728 748 5¢ S-2 v¥6 -200 0.0 50.0
19 4 E63 Basta kontrakt 20 & DKn9752 Basta kontrakt 21 4 Kn10765 Basta kontrakt
Syd v 108 44 S =420 Vast v74 44 N =620 Nord v Kn107652 5& O D -3 500
oV + 1062 Alla 4653 NS .-
#KKn1092 & ¢ v & NT *E6 & ¢ v & NT &Kn7 & ¢ v & NT
» 984 « D7 N9 8 7 109 + 1064 K3 N7 7 9 107 «ED9 4432 N 3 8 109 5
v D63 v E9742 S 987 109 vKD10 v Kn82 S 87 9 107 v 98 vD4 S 3 8 109 5
¢ KDKn5 4943 0156 23 +Kn9872 ¢ KD4 O55 42 4 ¢ D963 ¢ K7 085236
#763 &D54 V14511 *K8 #109543 V56422 #ED64 #K98532 V85236
& KKn1052 4 E8 4 K8
v KKn5 v E9653 v EK3
+ E87 ¢+ E10 + EKn108542
*E8 #DKn72 +10
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
733 757 44 S+1 +K 450 50.0 0.0|723 755 44 N= +K 620 46.0 4.0|724 721 4y N= *9 620 46.0 4.0
729 749 3NS+1 5 430 46.0 4.0|732 758 44 N= v9 620 46.0 4.0|748 757 4y N= a2 620 46.0 4.0
823 849 3NN+1 K 430 46.0 4.0|754 724 44 N= +K 620 46.0 4.0|755 725 4y N= +K 620 46.0 4.0
857 854 3NS+1 ¢5 430 46.0 4.0|828 830 44 N= +K 620 46.0 4.0|828 850 4y N= 3 620 46.0 4.0
851 821 44 S= ¢K 420 42.0 8.0|853 858 44 N= +K 620 46.0 4.0|849 829 4y N= +K 620 46.0 4.0
748 756 3N S = +K 400 38.0 12.0|722 721 34 N+1 ¢K 170 31.0 19.0|730 750 54D O-2 vA 300 40.0 10.0
856 855 3N S= +K 400 38.0 12.0|727 751 24 N+2 ¢K 170 31.0 19.0|732 759 3y N+1 %8 170 37.0 13.0
859 852 3NS-= +K 400 38.0 12.0|728 750 24 N+2 &5 170 31.0 19.0|821 857 2y N+2 &5 170 37.0 13.0
725 753 2v O-2 &) 200 340 16.0|729 749 34 N+1 ¢K 170 31.0 19.0(726 754 1¢ S+3 v¥9 130 34.0 16.0
752 726 34 S+1 ¢K 170 31.0 19.0|733 757 24 N+2 ¢K 170 31.0 19.0|827 851 54 O0-2 vK 100 32.0 18.0
825 833 34 N+1 vA 170 31.0 19.0|824 848 24 N+2 ¢K 170 31.0 19.0|823 855 2¢ S= v9 90 30.0 20.0
832 826 INS+2 ¢K 150 28.0 22.0825 833 24 N+2 ¢K 170 31.0 19.0|826 852 44 0-1 ©vA 50 28.0 22.0
728 750 34 S= ¢+K 140 26.0 24.0|851 821 34 N+1 ¢4 170 31.0 19.0|723 722 3¢ S-1 #A -100 20.0 30.0
722 721 24 S= ¢+K 110 240 26.0|856 855 34 S+1 vK 170 31.0 19.0|728 752 2¢ S-1 ¥9 -100 20.0 30.0
824 848 INS= +J 90 21.0 29.0|860 829 34 N+1 ¢4 170 31.0 19.0|733 758 3¢ S-1 &9 -100 20.0 30.0
860 829 INS-= + K 90 21.0 29.0|857 854 INS+2 ¢ 150 20.0 30.0|760 731 3¢ S-1 %6 -100 20.0 30.0
723 755 3NS-1 +K -50 15.0 35.0(725 753 24 N+1 ¢K 140 11.0 39.0(825 853 5v N-1 &8 -100 20.0 30.0
732 758 44 S-1  ¢K -50 15.0 35.0(731 759 24 N+1 ¢K 140 11.0 39.0(831 833 3¢ S-1 &5 -100 20.0 30.0
822 850 44 S-1 +K -50 15.0 35.0(748 756 24 N+1 ¢K 140 11.0 39.0(848 830 4¢ S-1 &A -100 20.0 30.0
828 830 2NS-1 +K -50 15.0 35.0(760 730 24 N+1 K 140 11.0 39.0 (859 858 3# O = vA -110 11.0 39.0
727 751 3NS-2 ¢K -100 6.0 44.0(822 850 34 N= v2 140 11.0 39.0 (860 832 34 O= *A -110 11.0 39.0
731 759 44 S-2  +K -100 6.0 44.0|831 827 34 N= +Q 140 11.0 39.0(729 751 3¢ S-2 &A -200 6.0 44.0
754 724 44 S-2  +K -100 6.0 44.0(832 826 34 N= *4 140 11.0 39.0(749 756 3¢ S-2 v6 -200 6.0 44.0
760 730 44 S-2 ¢K -100 6.0 44.0(859 852 24 N+1 ¢K 140 11.0 39.0(854 824 3¢ S-2 v9 -200 6.0 44.0
853 858 44 S-2 +K -100 6.0 440|752 726 INS+1 +¢2 120 2.0 48.0|753 727 4¢ N-3 43 -300 2.0 48.0
831 827 3NS-3 +¢K -150 0.0 50.0 (823 849 2v S= *7 110 0.0 50.0 (856 822 5¢ S-4 &A -400 0.0 50.0
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22 & Kn92
Ost v 107
oV + EKD42
&E97
& KD104 453
v84 v DKn52
+ 109 + 8765
#Knl10854 #K63
« E876
v EK963
+ Kn3
&D2
Par Kontr Ut
828 850 6NN = &3
732 759 3NN+4 v2
753 727 3NN+2 438
755 725 3NN+2 v2
831 833 3NN+2 &3
848 830 3NN+2 &3
849 829 3NN+2 v2
723 722 3NN+1 v2
726 754 3NN+1 &5
729 751 3NN+1 &3
730 750 3NN+1 &5
733 758 3NN+1 ¥5
748 757 3NS+1 #J
749 756 3NN+1 &3
827 851 3NN+1 ¥5
854 824 3NN+1 v2
825 853 4v S= &Q
724 721 3NN-= &6
728 752 3NN= +5
821 857 3NS= &K
823 855 3NN= +8
826 852 3NS= &4
859 858 3NN = v2
860 832 3NS= &K
760 731 2NN +2 &3
856 822 4v S -2 &

Basta kontrakt
5NT N =460

& ¢ v & NT
N 8 11101011
S 8 11111010
052232
V52232
Res Poang
990 50.0 0.0
520 480 2.0
460 420 8.0
460 42.0 8.0
460 420 8.0
460 420 8.0
460 42.0 8.0
430 28.0 22.0
430 28.0 22.0
430 28.0 22.0
430 28.0 22.0
430 28.0 22.0
430 28.0 22.0
430 28.0 22.0
430 28.0 22.0
430 28.0 22.0
420 18.0 32.0
400 10.0 40.0
400 10.0 40.0
400 10.0 40.0
400 10.0 40.0
400 10.0 40.0
400 10.0 40.0
400 10.0 40.0
180 2.0 48.0
-100 0.0 50.0

23 sE4
Syd v KD543
Alla + EK2
#3832
«97 4108652
vKn962 v10
+D1085 ¢ Kn43
#1054  #DKn96
& KDKn3
v E87
+ 976
S»EK7
Par Kontr Ut
822 854 6y S+1 49
824 852 6N S= v9
833 829 6N S= T
853 823 6N S= +8
721 726 6v S= a9
727 755 6v S= 49
731 751 6v S= 49
750 756 6v S= a9
760 732 6v S= a7
825 851 6v S= +5
860 831 6v S= +8
725 722 3NS+3 45
754 728 3NS+3 45
827 849 4v N+2 #Q
729 753 3NS+2 v6
859 856 3NS+2 48
848 828 3NS+1 &4
724 723 6NS-1 +8
730 752 6NS-1 +5
733 759 6NS-1 +5
748 758 6N S -1 v38
749 757 6NS-1 +8
826 850 6N S-1 +5
830 832 6NS-1 +8
855 821 7v S-1 +5
858 857 7NS-2 &T

Basta kontrakt

6NT S =1440
& ¢ v & NT
N 1010121012
S 1010121012

033121

V33121

Res Poang
1460 50.0 0.0
1440 46.0 4.0
1440 46.0 4.0
1440 46.0 4.0
1430 36.0 14.0
1430 36.0 14.0
1430 36.0 14.0
1430 36.0 14.0
1430 36.0 14.0
1430 36.0 14.0
1430 36.0 14.0
690 27.0 23.0
690 27.0 23.0
680 24.0 26.0
660 21.0 29.0
660 21.0 29.0
630 18.0 32.0
-100 9.0 41.0
-100 9.0 41.0
-100 9.0 41.0
-100 9.0 41.0
-100 9.0 41.0
-100 9.0 41.0
-100 9.0 41.0
-100 9.0 41.0
-200 0.0 50.0

24 & Kn2
Vast v97
Ingen + KD86
#ED1083
4109653 & EK4
vED3 v 1085
¢ Kn43 ¢ 107
&Kn2 &#K9765
« D87
v KKn642
¢ E952
&4
Par Kontr Ut
826 850 2NN +1 &A
825 851 2v S+1 a5
833 829 2v S+1 &T
855 821 3¢ S+1 46
754 728 3¢ N= s A
827 849 3¢ N= a K
848 828 3¢ N= a A
729 753 34 V-2 v9
727 755 2¢ S= aT
822 854 24 S= a3
749 757 34 V-1 +K
858 857 34 V-1 +K
721 726 3¢ N-1 a A
733 759 3¢ N-1 s A
760 732 3¢ N-1 a A
824 852 3¢ N-1 a A
830 832 2¢ N-1 s A
859 856 3¢ N-1 a A
724 723 3¢ N-2 a A
725 722 3¢ N-2 s A
730 752 3¢ S-2 *J
748 758 5¢ S -2 aT
750 756 3NS-2 *J
853 823 4v S-2 *J
860 831 4¢ S-2 a3
731 751 3NN-3 &4

Basta kontrakt
3¢ N =110

ARhOOe
ARhOOD®e
~N~NGgoe
coooZ

Res

150
140
140
130
110
110
110
100

Y
o
Q:
>
«Q

90
50
50
-50
-50
-50
-50
-50
-50
-100
-100
-100
-100
-100
-100
-100
-150
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